Fit Fraction [%)

]

arg(g)[°]

[K*(892)°p(770)°] =0 7.3440.08+£0.47  0.196 £0.001 +£0.015 —22.4+0.4+1.6
[K*(892)°p(770)°] " 6.03+0.05+0.25  0.36240.002+0.010 —102.9+04+1.7
[ (892)0 p(770)°] “ > 8.47 + 0.09 £ 0.67
[p(1450)° K+ (892)°] “~° 0.61£0.04+0.17  0.162+0.005+£0.025 —86.1+1.9+4.3
[p(1450)° K* (892)°] b=t 1.98+£0.03+0.33  0.643 +0.006 + 0.058 97.34+0.5+2.8
[p(1450)° K*(892)°] b= 0.46 £0.03+£0.15  0.64940.021 £0.105 —15.6+2.04+4.1
p(770)° [K 7 +]"=° 0.934+0.03+£0.05  0.338 £ 0.006 & 0.011 73.0+£0.8+4.0
3o 1.073 £0.008 £ 0.021 —130.94 0.5+ 1.8
K*(892)° [rta—]"° 2.35 4+ 0.09 + 0.33
frr 0.261 4+ 0.005 +0.024 —149.0+0.9 + 2.7
Bi 0.305 4+ 0.011 + 0.046 65.6 + 1.5+ 4.0
a1(1260)t K~ 38.07+0.24+1.38  0.81340.006 £0.025 —149.2+0.5+ 3.1

K1(1270) 7+

4.66 £ 0.05 £ 0.39
1.15+0.04 £0.20

0.362 & 0.004 £ 0.015
0.127 £ 0.002 £ 0.011

11424+ 0.8 £ 3.6
—-169.8+1.1+£5.9

K1(1400)~ [K*(892)%7~ | 7 F
K3(1430)~ [K*(892)7~ | =+

0.46 £ 0.01 £ 0.03

0.302 £ 0.004 £ 0.011

=77 7£07£21

K (1460)~ 7+

3.75+0.10 £ 0.37

0.122 £ 0.002 £ 0.012

172.7£22+£8.2

(K="= [rta— "0
Qa3/2
aKn’
B
Jrn

22.04+£0.28£2.09

0.870 £ 0.010 = 0.030
2.614 +0.141 £ 0.281
0.554 £ 0.009 £ 0.053
0.082 £ 0.001 £ 0.008

—149.2+0.7£3.5
—19.1£244+12.0

353£07£1.6

—147.0+0.7+£2.2

Sum of Fit Fractions
X /v

98.29 £ 0.37 £ 0.84
40483/32701 = 1.238




